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S T — 1T H 798 1,657 825 832
$5h) T —TH 553 1,298 637 661
$5h) T —=TH 754 1,616 829 787
3k  /hE * % 2,105 4,571 2,291 2,280
Z=oalil — 1 H 1,243 2,532 1,229 1,303
=il NE 1,220 2,285 1,115 1,170
Z=oalil —= 1T H 1,339 2,668 1,305 1,363
=il uTH 840 1,955 974 981
* %k /phE * % 4,642 9,440 4,623 4,817
E=IREe — 1 H 1,014 2,004 966 1,038
E=IREe —TH 1,019 2,142 1,020 1,122
E=IREe =TH 1,730 3,007 1,416 1,591
=Rk L E! 1,092 1,745 834 911
* %k /phE * % 4,855 8,898 4,236 4,662
B — 1T H 1,005 2,001 993 1,008
)1 —TH 697 1,636 822 814
)1 =TH 1,191 2,606 1,274 1,332
)1 L E! 919 1,983 987 996
* %k /phE * % 3,812 8,226 4,076 4,150
PHET)I — 71 H 887 1,835 908 927
PRET)I| —TH 744 1,664 780 884
PRET)I| —=TH 367 804 374 430
PRET)I| T H 1,399 2,932 1,461 1,471
* % /pNEF % % 3,397 7,235 3,523 3,712
* k 2REE* % 42,961 83,236 40,336 42,900
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FR AR —TH 3,060 6,337 2,961 3,376
FRAHT  — T H 731 1,504 741 763
FRAHT =T H 1,213 2,650 1,298 1,352
FOiRART PUTH 2,088 3,458 1,495 1,963
*k  hEE kk 7,092 13,949 6,495 7,454
o IR — 1 H 1,142 2,041 995 1,046
o AR —TH 974 1,976 1,006 970
o IR —=TH 1,477 2,873 1,426 1,447
o AR T A 685 1,433 708 725
o AR LT H 1,861 3,674 1,855 1,819
*k  hEE kk 6,139 11,997 5,990 6,007
VG iR —T1H 783 1,130 570 560
VG iR —TH 485 913 402 511
*k  hEE kk 1,268 2,043 972 1,071
TR — 1 H 727 1,190 569 621
TR —TH 758 1,473 718 755
TR =TH 525 829 408 421
*k  hEE kk 2,010 3,492 1,695 1,797
HUFIIR — 1 H 2,060 3,130 1,412 1,718
HUFIIR —TH 811 1,333 622 711
HUFIIR —~TH 954 1,670 787 883
HUFIIR T H 419 616 306 310
TS 4,244 6,749 3,127 3,622
5 — T H 592 1,073 546 527
5 —TH 756 1,603 811 792
5 =TH 1,408 2,694 1,324 1,370
Y5 T H 641 1,266 627 639
TS 3,397 6,636 3,308 3,328




